StarTechy.om

Hard-to-find made easy®

Triple-Monitor Arm
ARMTRIO

<

*actual product may vary from photos

FR: Guide de I'utilisateur - fr.startech.com

DE: Bedienungsanleitung - de.startech.com

ES: Guia del usuario - es.startech.com

NL: Gebruiksaanwijzing - nl.startech.com

PT: Guia do usuério - pt.startech.com

IT: Guida per I'uso - it.startech.com

Fort informati i ifications, and support for
this pr please N ),

Manual Revision: 11/29/2016


http://www.startech.com/ARMTRIO

Warning statements

Waarschuwingen

personal njury or property damage.

the product.Ifyou
This

gen:
fichamelik etsel of materiele schade ontstaan.

1761b. (8 kg) pe

9

ondersteunt het volgende gewicht:8 kg per monitor.

personal injury or damage to your equipment.

Varningsmeddelanden

person eller egendom uppsta

skada pb person i skérm.

utrustning uppsts,

Avertissements

tisquez de vous blesser ou dendommager léquipement.

du moniteur
Ce produit

g par ecran.

corporelles ou des dommages matériels.

Warnhinweise

Personen oder Schaden an Eigentum fuhren.

Das Gewicht des Monitors darf die zulassige Traglast des Produkts nicht dbersteigen. Wenn die Traglast
? . Dieses

Produktist fur folgendes Gewicht geeignet: 8 kg per monitor.

 wenn

Personen oder Schaden an Geraten fuhren.

Dichiarazioni di avvertenza

Assemblare | .
janni a persone o propriets.

Incasodi

prodotto & in grado di supportare | seguenti pesi: 8 kg per montor.

danni a persone o apparecchiature.

Mensagens de aviso

c
em ferimentos pessoais ou danos de propriedade.

Certifiq 5 exceder

Suportar o seguinte peso: kg por monitor.

permitr que qualg od
esitar em ferimentos pessoais oU danos no seu equipamento.
Advertencias de uso
lesiones personales o daros de propiedad.
d

capicidad para el siguiente peso: & kg por monitor.

producirlesiones personales o daros en el equipo.

Instruction manual

schade aan de apparatuur veroorzaken.

ER
# B> TARBOMH I TET>TFE V. YRR B SIC BEFRSEN
PUNIRESRET HENOBYET,

BHHBEZS— vDE!a‘ t&uu(ﬁ#)‘:ﬂ? Miitﬁ!?ﬂxf L*;—)LL'('F*W“M'&
WEREA—/ (—LI5E, —PERRICAEN T
FHBEE 5—\“5&*)3@5?15@‘(*57«

AUSTEALTLSE BHHELTORELTOSRETERT 20IBITLE

BTFEL

T—TNO—EHARBOTHBIZ D >TLE B BEEASBNPEZS—PARS
CRENRET BB BIET,

StarTechg-0m

Hard-to-find made easy



Table of Contents

Warnings i
Introduction 1
Product diagram 1
Technical specifications 2
Package contents 3
Requirements 5
Assembly 6
Attach the ARMTRIO to your mounting surface 6
Attach the VESA monitor mounts 11
Attach the monitors to the monitor arms 13
Attach the crossbar and monitor arms 15
Adjust the position of the monitors 18
Attach the cable-management clips 21
Technical support 22
Warranty information 22
~
Instruction manual StarTeCh.'Om

ii Hard-to-find made easy



Introduction

Use the ARMTRIO to mount three monitors, and use the cable-management clips to
keep your cables organized. The pivoting arms on the ARMTRIO allow you to arrange
your monitors in a “surround” setup and position the monitors in the way that works

best for you.

Product diagram

Pole
Left monitor arm Crossbar 1 Right monitor arm

Cable-management

clip
VESA monitor VESA monitor VESA monitor
mount mount mount
Desk clamp ———e

=
N
i 560°
o \
E £
E m
2 3
wn
*min 10 mm (0.4 in.) - max 80 mm (3.1in.)
StarTechy.0m

Instruction manual
1 Hard-to-find made easy



Technical specifications

Type of measurement Measurement

75x75
100x100

Up to 17.6 Ib. (8 kg)
per monitor mount

+30° to -30°

: 330 to 686 mm
H (13to 27in.)

o

@ +30° to -300

StarTechy.0m

2 Hard-to-find made easy

Instruction manual



Package contents

o (2]

Left monitor arm Right monitor arm

Arm caps

Grommet collar Grommet plate
Qty: One Qty: One
(o
Instruction manual StarTeCh.,Om

3 Hard-to-find made easy



Rubber pads
Qty: Five

Cable-management clips
Qty: Four

Thumbscrews

3 mm Allen key

5 mm Allen key M4x14 mm screws

Qty: One

Qty: Twelve

StarTechy.0m

4 Hard-to-find made easy

Instruction manual



-/

M5x14 mm screws H Washers

Qty: Twelve { Qty: Twelve

Instruction manual
Qty: One

Requirements
+ Monitors or displays that are compatible with a VESA mount

A Phillips screwdriver

Requirements are subject to change. For the latest requirements, please visit
www.StarTech.com/ARMTRIO.

StarTechy.0m

5 Hard-to-find made easy

Instruction manual


http://www.startech.com/ARMTRIO

Assembly
Attach the ARMTRIO to your mounting surface

There are two ways that you can attach the ARMTRIO to your mounting surface: a desk
clamp or a grommet mount. The desk clamp ships preassembled.
Use the desk clamp to attach the ARMTRIO

Warning! Make sure that the weight of the monitors doesn't exceed the weight
capacity of this product. If you exceed the weight capacity, you might experience
personal injury or damage to the product. This product can support the following
weight: Up to 8 kg (17.6 Ib.) per monitor mount, for a total of 24 kg (52.8 Ib.).

1. Remove the cap from the top of the desk clamp (6). (figure 1)

figure 1
Desk clamp Cap

2. Thread the pole (5) through the cap that you removed from the desk clamp.
(figure 2)

figure 2

o——Pole

o——Cap

StarTechy.0m

6 Hard-to-find made easy

Instruction manual



3. Screw the pole and cap into the top of the desk clamp. (figure 3)
4. Use the 3 mm Allen key (14) to tighten the screws in the desk clamp. (figure 4)

figure 3 figure 4

*——Pole

3 mm Allen key

5. Push down the cap so that it sits flush against the top of the desk clamp. (figure 5)

figure 5

o——Pole

——~Cap

o—— Desk clamp

StarTechg-0m

7 Hard-to-find made easy

Instruction manual



6. Remove the backing from the five rubber pads (9) and attach them underneath the
top of the desk clamp.

7. Turn the knob on the desk clamp counterclockwise until you reach the thickness of
the desk or table that you're attaching the ARMTRIO to.

Note: The desk mount can accommodate a desk or table that’s between 10 and 80 mm
thick (0.4 and 3.1in.).

8. Slide the desk clamp over the edge of the desk or table. (figure 6)
9. Turn the knob clockwise to tighten the desk clamp.

Use the grommet mount to attach the ARMTRIO

Warning! Make sure that the weight of the monitors doesn't exceed the weight
capacity of this product. If you exceed the weight capacity, you might experience
personal injury or damage to the product. This product can support the following
weight: Up to 8 kg (17.6 Ib.) per monitor mount, for a total of 24 kg (52.8 Ib.).

1. Remove the cap from the top of the desk clamp (6). (figure 7)

figure 7 Desk clamp Cap

StarTechy.0m

8 Hard-to-find made easy

Instruction manual



2. Thread a screwdriver through the top of the desk clamp and unscrew the screw and
remove the washer and plate. (figure 8)

Tip! Keep the screw, washer, and plate in a safe place so that you can use them again if
you want to switch back to the desk clamp.

3. Remove the rod from the bottom of the desk clamp. (figure 8)

figure 8
e—— Screwdriver

4. Thread the pole (5) through the cap that you removed from the desk clamp.
(figure 9)

figure 9
-—

Pole

!

o——Cap

StarTechy.0m

9 Hard-to-find made easy

Instruction manual



5. Remove the backing from the five rubber pads (9) and affix them to the bottom of
the grommet collar (7). (figure 10)

figure 10

Grommet
collar

Rubber pads —e©

6. Screw the pole and cap into the top of the grommet collar. (figure 17)

figure 11

Grommet collar ——e —-—

7. Use the 3 mm Allen key (14) to tighten the screw in the grommet collar, and push
down the cap so that it sits flush again the grommet collar. (figure 12)

figure 12

Pole —

3 mm Allen key

Cap——

Grommet collar——e

StarTechg-0m

10 Hard-to-find made easy

Instruction manual



8. Thread the grommet plate (8) onto the rod.

9. Place the assembled pole and grommet collar over the grommet hole in your
mounting surface, and on the underside of the mounting surface, thread the rod
up through the grommet hole and into the pole.

10. Turn the knob clockwise to tighten the grommet mount. (figure 13)

figure 13

Grommet plate ——

Attach the VESA monitor mounts

To accommodate different monitor designs, the ARMTRIO comes with two sets of
screws that are different lengths and diameters.

To select the appropriate screws for the type of monitors that you're using, complete
the following:

+ Determine whether the back of the monitors are flush or inset.
« Determine the depth of the mounting holes on the monitors.
+ Determine the diameter of the mounting holes on the monitors.

1. Arrange the crossbar (3) so that the holes on the VESA monitor mount (11) line up
with the mounting holes on the back of one of your monitors.

2. Position four of the washers (18) over the holes on the VESA monitor mount.

Instruction manual Sta rTeCh.Com

11 Hard-to-find made easy



3. Insert four of the M4x14 mm screws (16) or the M5x14 mm screws (17) through the
washers, the VESA monitor mount, and into the monitor. (figure 14)

4. Tighten the screws.

Warning! Do not over-tighten the screws, If you encounter resistance while you're
tightening the screws, stop tightening. Failure to do so could result in damage to the
monitor.

figure 14

q
\/@l%

Crossbar

Top of mon'tor—/
i

M4x14 mm screw

OR
M5x14 [ |

5x14 mm screw | Washer

5. Position one of the VESA monitor mounts over the mounting holes on the back of
one of the monitors.

Note: Make sure to position the VESA monitor mount so that the adjustment screw on
the mount is facing towards the top of the monitor.

6. Position four of the washers over the holes on the VESA monitor mount.

7. Insert four of the M4x14 mm screws or the M5x14 mm screws through the washers,
the VESA monitor mount, and into the monitor. (figure 15)

8. Tighten the screws.
9. Repeat steps 5 to 8 to attach the second VESA monitor mount to the third monitor.

StarTechy.0m

12 Hard-to-find made easy

Instruction manual



figure 15

Attach the monitors to the monitor arms

1. Slide the left monitor arm (1) through the VESA monitor mount (11) attached to
one of the monitors.

2. Slide the right monitor arm (2) through the VESA monitor mount attached to the
other monitor. (figure 16)

figure 16

Right monitor arm _
VESA monitor mount

VESA monitor mount )
Left monitor arm

StarTechy.0m

13 Hard-to-find made easy

Instruction manual



3. Place an end cap (10) on the end of each of the monitor arms. (figure 17)

Note: Make sure that you line up the hole on the end cap with the corresponding hole
on the end of the monitor arms.

figure 17

Monitor arm

4. Insert a thumbscrew (13) through the hole in each of the end caps and into the
monitor arms, and tighten the thumbscrews in place. (figure 18)

figure 18

StarTechy.0m

14 Hard-to-find made easy

Instruction manual



Attach the crossbar and monitor arms

Warning! Attaching the crossbar and monitor arms is a two-person job. Do not
attempt to complete this task by yourself.

1. Use the 3 mm Allen key (14) to loosen the screw in the collar on the pole (5).

2. Slide the collar to the height that you want the monitors to sit at, and use the 3 mm
Allen key to tighten the screw in the collar. (figure 19)

figure 19

\

3. Carefully slide the crossbar (3) over the end of the pole so that it’s sitting against the
collar.

4. Use the 5 mm Allen key (15) to tighten the four screws at the back of the crossbar.
(figure 20)

figure 20

Crossbar

Pole ——

o———>5 mm Allen key

Instruction manual Sta rTeCh.Com

15 Hard-to-find made easy



5. Carefully place the left (2) and right monitor arms (3) over the projections on each
end of the crossbar. (figure 217)

figure 21

Monitor

Note: When you assemble the ARMTRIO for the first time, you, need to tighten the
screws in the two monitor arm joints. Use the 5 mm Allen key to tighten the screws.
(figure 22)

figure 22

StarTechg-0m

16 Hard-to-find made easy

Instruction manual



6. Place each of the arm caps (4) in the monitor arm joints. (figure 23)

figure 23

Arm joint

StarTechy.0m

17 Hard-to-find made easy

Instruction manual



Adjust the position of the monitors
You can adjust the position and angle of your monitors in the following ways:

0°to 30°

+30° to -30°
f<dh>)

C300

StarTechg-0m

18 Hard-to-find made easy

Instruction manual



1. To position the monitors in the way that works best for your setup, complete any of
the following:

« To adjust the angle of the left and right monitor arms, use the 5 mm Allen
key (15) to loosen the two screws at each of the monitor arm joints. Position
the monitors at the angle you want them in, and use the 5 mm Allen key to
tighten the screws and lock the monitors into position. (figure 24)

—
-0,@\\ {

s

5SmmAllenkey

« To adjust the tilt angle of the left and right monitors, use the 5 mm Allen
key (12) to loosen the screw in the sides of the VESA monitor mounts (11).
Position the monitors at the angle you want them in, and use the 5 mm Allen
key to tighten the screws and lock the monitors into position. (figure 25)

figure 25

5 mm Allen key

StarTechy.0m

19 Hard-to-find made easy

Instruction manual



« To raise or lower the left and right monitors minutely, use the adjustment
screws located on the top of the VESA monitor mounts (11). (figure 26)

figure 26 Adjustment screw

VESA monitor mount
« To move the monitors along the monitor arms, use a Phillips screwdriver (not
provided) to loosen the screw located on the underside of each of the VESA
monitor mounts (11). Move the monitors left or right on the monitor arms,
and tighten each of the screws when the monitors are in the locations that you
want them in. (figure 27)
Warning! Make sure that you loosen the screw on the underside of the VESA monitor
mounts before you move them along the monitor arms. If you move the VESA monitor

mounts without loosening the screws, you might damage the surface of the monitor
arms.

figure 27

A VESA monitor mount
<= —

e—— Screwdriver

Instruction manual Sta rTeCh.Com

20 Hard-to-find made easy




Attach the cable-management clips

1. Snap the four cable-management clips (12) over both of the monitor arms and the
crossbar (3). (figure 28)

figure 28

2. Route the monitor cables through the cable-management clips on the monitor
arms and crossbar, down the pole (5), and through the cable-management clip on
the pole. (figure 29)

figure 29

StarTechy.0m

21 Hard-to-find made easy

Instruction manual



Technical support

StarTech.com’s lifetime technical support is an integral part of our commitment to
provide industry-leading solutions. If you ever need help with your product, visit
www.startech.com/support and access our comprehensive selection of online tools,
documentation, and downloads.

For the latest drivers/software, please visit www.startech.com/downloads

Warranty information
This product is backed by a five-year warranty.

StarTech.com warrants its products against defects in materials and workmanship
for the periods noted, following the initial date of purchase. During this period,
the products may be returned for repair, or replacement with equivalent
products at our discretion. The warranty covers parts and labor costs only.
StarTech.com does not warrant its products from defects or damages arising from
misuse, abuse, alteration, or normal wear and tear.

Limitation of liability

In no event shall the liability of StarTech.com Ltd. and StarTech.com USA LLP (or their
officers, directors, employees or agents) for any damages (whether direct or indirect,
special, punitive, incidental, consequential, or otherwise), loss of profits, loss of business,
or any pecuniary loss, arising out of or related to the use of the product exceed the
actual price paid for the product. Some states do not allow the exclusion or limitation
of incidental or consequential damages. If such laws apply, the limitations or exclusions
contained in this statement may not apply to you.

Use of Trademarks, Registered Trademarks, and other Protected Names and Symbols

This manual may make reference to trademarks, registered trademarks, and other
protected names and/or symbols of third-party companies not related in any way to
StarTech.com. Where they occur these references are for illustrative purposes only and do not
represent an endorsement of a product or service by StarTech.com, or an endorsement of the
product(s) to which this manual applies by the third-party company in question. Regardless
of any direct acknowledgement elsewhere in the body of this document, StarTech.com hereby
acknowledges that all trademarks, registered trademarks, service marks, and other protected
names and/or symbols contained in this manual and related documents are the property of
their respective holders.

StarTechy.0m

22 Hard-to-find made easy

Instruction manual



StarTechg:om

Hard-to-find made easy®

Hard-to-find made easy. At StarTech.com, that isn’t a slogan. It's a promise.

StarTech.com is your one-stop source for every connectivity part you need. From
the latest technology to legacy products — and all the parts that bridge the old and
new — we can help you find the parts that connect your solutions.

We make it easy to locate the parts, and we quickly deliver them wherever they need
to go. Just talk to one of our tech advisors or visit our website. You'll be connected to
the products you need in no time.

Visit www.startech.com for complete information on all StarTech.com products and
to access exclusive resources and time-saving tools.

StarTech.com is an I1SO 9001 Registered manufacturer of connectivity and technology
parts. StarTech.com was founded in 1985 and has operations in the United States,
Canada, the United Kingdom and Taiwan servicing a worldwide market.



